

### Republic of the Philippines

## **DEPARTMENT OF FINANCE**

Roxas Boulevard Corner Pablo Ocampo, Sr. Street Manila 1004

### **REQUEST FOR QUOTATION**

	Date:	June 7, 2023
	Purchase Quo	otation No. : <b>2023-06-0127</b>
* p = 2 p		
Gentlemen :		
Please quote your lowest price on the item listed below, subject		
submit your quotation duly signed by your representative in sealed envelope di	rect to the Bids and Awar	ds Committee (BAC)
Chairperson or thru the authorized canvasser of this Department not later than	the tim	ne and date of the
opening of the sealed quotation.		
	Y	
		e and date of the

LVIN P. DIAZ, Director IV entral Administration Office

QUANTITY	UNIT	ARTICLE / MERCHANDISE / SPECIFICATION	UNIT PRICE	TOTAL
2	unit	Oven Toaster	2,700.00	5,400.00
		Power Input: 800 W		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		Capacity: 11 Liters		
2		60-minute timer with signal bell		
1.7		Upper and lower heating element		
		With thermostat to prevent overheating		
		With bake tray and wire rack		
-		Bake, roast, and broil functions		
1		Temperature control up to 230 °C		
Alai		1 year warranty		
2	unit	Microwave Oven	11,500.00	23,000.0
		30 Liters Capacity	900-Y1/1 - 91/2 J HEBO C 1000 J Y 10/100	,
- 1		Grill Fry (Crusty Plate)		
		Glass Touch & Simple UX		
ł		Easy Clean Interior		
		Power Source: 230V / 60Hz		
		Output Power (Microwave): 900 W		
		Power Consumption (Grill): 1500 W		
		Power Consumption (Microwave): 1500 W	- 24	
		Power Consumption (Max): 2900 W		
		1 year warranty on parts and labor		
		10 years warranty on ceramic enamel		
1		5 years warranty on magnetron		

QUANTITY	UNIT	ARTICLE / MERCHANDISE / SPECIFICATION	UNIT PRICE	TOTAL
2	unit	Coffee Maker	1,450.00	2,900.00
	6 1	10 Cups Capacity		***
		Thermo Glass Carafe		
		Stainless Steel Front Panel		
		Water Level Indicator		
		Keep Warm Heater Plate		
		Automatic Drip Coffee		
		Cord Storage		
		Washable Filter Basket		
		Power Light Indicator		
		Anti-SlipFooting		
		1000 Watts Power		
		1 year warranty on parts and labor		
2	unit	Airpot	3,250.00	6,500.0
-		5 Liters Capacity	3,230.00	0,500.0
		Stainless Steel Pot		
		Metal Sheet Body		
		Power Input: 800 W		
		3-Way Flexi Water Pump		
		Dry-boil Protection System		
		Auto-reboil function		
		Detachable Lid and Power Cord	Face College III	
		360 degrees Revolving Cordless Base		
		Measurement: L30 x W23 x H20 cm		
		Weight: 2.6 kg		
		Weight 2.0 kg		
2	unit	Dish Dryer	7,930.00	15,860.0
		50 Liters Capacity		
		Air Ionizer		
		LED Digital Display		
		Touch Sensitive Control Panel		
		4 Preset Functions (Auto, Dry, Anion, UV)		
		Kills 99.9% of Germs & Bacteria		
		70°C Hot Circulation		
		Heat Resistant Cover		
		10.5" Maximum Plate Sizer		
		Detachable Stainless Steel Racks		
		3-4 Sets		
		NOTE: Please include the following required documents upon		
		submission of your proposal for evaluation purposes:		
- 1		1. Mayor's/Business Permit		
1		2. PhilGEPS Registration Number		
		Additional required document (to be submitted by the winning bidder		
		before issuance of Purchase Order):		
		3. Duly notarized Omnibus Sworn Statement (Revised)		
n_0_0		(For CAO Use)		53,660.0
		arefully read and accepted your General conditions, I/we quote you on th the above articles/merchandise within calendar days from receipt		
		only up to	or your valid Purchas	e Order (PO).
ivassed by:		Supplier :		

.

A

	submission of your proposal for evaluation purposes:		
	1. Mayor's/Business Permit		
	2. PhilGEPS Registration Number		
	Additional required document (to be submitted by the winning bidder		
	before issuance of Purchase Order):		
	3. Duly notarized Omnibus Sworn Statement (Revised)		
	(For CAO Use)		53,660.00
Afte	r having carefully read and accepted your General conditions, I/we quote you on the	e item at prices not	ed above and
bind ourselves	to deliver the above articles/merchandise within calendar days from receipt	of your valid Purch	ase Order (PO).
The quotation	are good only up to		
Canvassed by :	Total Access of	W	
	By:		
8	Tel. No. :		
	TIN:		



# Republic of the Philippines

# **DEPARTMENT OF FINANCE**

Roxas Boulevard Corner Pablo Ocampo, Sr. Street Manila 1004

## REQUEST FOR QUOTATION

	Date :	June 7,	, 2023
	Purchase 0	Quotation No. :	2023-06-0127
Gentlemen :			
Please quote your lowest price on the item			
submit your quotation duly signed by your representative	in sealed envelope direct to the Bids and Av	vards Committee	(BAC)
Chairperson or thru the authorized canvasser of this Depar	tment not later than the	time and date of	the
opening of the sealed quotation.			
	Cific	une	cedes
	ALVIN P. DIAZ	Z, Director IV	7
	dentral Admini	stration Office	

QUANTITY	UNIT	ARTICLE / MERCHANDISE / SPECIFICATION	UNIT PRICE	TOTAL
2	unit	Oven Toaster		
		Power Input: 800 W		
		Capacity: 11 Liters		
		60-minute timer with signal bell		
		Upper and lower heating element		
		With thermostat to prevent overheating		
		With bake tray and wire rack		
		Bake, roast, and broil functions		
		Temperature control up to 230 °C		
		1 year warranty		
2	unit	Microwave Oven		
		30 Liters Capacity		~
1		Grill Fry (Crusty Plate)		
		Glass Touch & Simple UX		
		Easy Clean Interior		
		Power Source: 230V / 60Hz		
		Output Power (Microwave): 900 W		
		Power Consumption (Grill): 1500 W		
		Power Consumption (Microwave): 1500 W	1 1 1 2 2	
		Power Consumption (Max): 2900 W		
		1 year warranty on parts and labor		
		10 years warranty on ceramic enamel		
		5 years warranty on magnetron		

QUANTITY	UNIT	ARTICLE / MERCHANDISE / SPECIFICATION	UNIT PRICE	TOTAL
2	unit	Coffee Maker		
		10 Cups Capacity		
		Thermo Glass Carafe		
		Stainless Steel Front Panel		
		Water Level Indicator		
		Keep Warm Heater Plate		
		Automatic Drip Coffee		
_		Cord Storage		
		Washable Filter Basket		
		Power Light Indicator		
		Anti-SlipFooting		
		1000 Watts Power		
		1 year warranty on parts and labor		
2	unit	Airpot		
	unit	5 Liters Capacity		
		Stainless Steel Pot		
		Metal Sheet Body		
		Power Input: 800 W		
		3-Way Flexi Water Pump		
		Dry-boil Protection System		
		Auto-reboil function		
		Detachable Lid and Power Cord		
		360 degrees Revolving Cordless Base		
		Measurement: L30 x W23 x H20 cm		
		\$50,000 to \$150,000 to \$150,00		
		Weight: 2.6 kg		
2	unit	Dish Dryer		
		50 Liters Capacity		
		Air Ionizer		
		LED Digital Display		
		Touch Sensitive Control Panel		
		4 Preset Functions (Auto, Dry, Anion, UV)		
		Kills 99.9% of Germs & Bacteria		
		70°C Hot Circulation		
		Heat Resistant Cover		
		10.5" Maximum Plate Sizer		
		Detachable Stainless Steel Racks		
		3-4 Sets		
		NOTE: Please include the following required documents upon		
		submission of your proposal for evaluation purposes:		
		1. Mayor's/Business Permit		
		2. PhilGEPS Registration Number		
		Additional required document (to be submitted by the winning bidder		
		before issuance of Purchase Order):		
		The state of the s	-	
		3. Duly notarized Omnibus Sworn Statement (Revised)		
		(For CAO Use)		
		arefully read and accepted your General conditions, I/we quote you on th the above articles/merchandise within calendar days from receipt		
		only up to	or your valid Purch	ase Order (PO).
Canvassed by :		Supplier:		
		By:		
8-		Tel. No. :		
		TIN:		